(m_Use subtraction to eliminate a variable

Solve the linear system: 4x + 3y =2 Equation 1
S5x+3y=-2 Equation 2
: SUBTRACT Solution
EQUATIONS) STEPT Subtract the equations to 4x+ 3y =2
i When the coefficients eliminate one variable. 5x + 3y = —2
: of one variable are R —
: the same, subtract the STEP 2 Solve for x. —X =4

equations to eliminate

i the variable. x=-4

STEP 3 Substitute —4 for x in either equation and solve for y.
4x+ 3y =2 Write Equation 1.
4(-4)+3y=2 Substitute —4 for x.
y=6 Solve for y.
| » The solution is (—4, 6).

(m Arrange like terms

Solve the linear system: 8x —4y= —4  Equation 1
4y =3x+ 14 Equation 2

Solution

EANOD ERRORS sl 8x —dy=—4 8x — 4y = —4
i Make sure that the ‘ 4y=3x + 14 —3x+4y =14
¢ equal signs are in the —_—————
s;]me co%umn, just as STEP2 Add the equations. S5x =10
: the like terms are. STEP3 Solve for x. x=2

STEP 4 Substitute 2 for x in either equation and solve for y.
4y =3x + 14 Write Equation 2.
4y =3(2) + 14 Substitute 2 for x.
y=>5 Solve for y.
» The solution is (2, 5).

\/ GUIDED PRACTICE  for Examples 1,2, and 3

| Solve the linear system.

1. 4x—3y=5 2. —5x—6y=28 3.6x—4y=14
—2x+3y=-7 S5x+2y=4 —3x+4y=1
4. 7x —2y=5 5. 3x +4y= -6 6. 2x + 5y =12
x—3y=4 2y=3x+6 59=4x+6

7.3 Solve Linear Systems by Adding or Subtracting

STEP T Rewrite Equation 2 so that the like terms are arranged in columns.
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